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Cau 1: In a square land, a rectangurlar pond is digged with an area of 150m? in
the middle of the land. Given that the length of the pond is half of the land’s
side, and the width of the pond is % the land’s side. Find the perimeter and the
area of the land. Chu vi: ............... m ; Dién tich: .........ccereue.... m2
Trén mot khu dit hinh vuong, nguaoi ta dao mot cdi ao hinh chie nhat cé dién
tich 150m” & chinh gitra cua khu dat. Biét chiéu dai cia ao b.:‘fvng nua canh cua
khu dat chieu rong cua ao bff'ng -;—‘ canh cua khu dat. Tinh chu vi va dien tich cua
khu dat do.
Cau 2: 4500 new books arrive at the Central Library. gof these books are
distributed to 3 Branch Libraries, A, B, C, in the ratio of 1: 3: 5. How many
books does Branch C recive? Branch C received .. ..... books
4500 cuén sdach méi dwoe dwa 161 thue vién trung tam. gsd do dug’c chia cho cdc
thie vién chuyén nganh A, B, Cvoiti I¢ 1 : 2 : 5. Hoi thur vién chuyén nganh C
¢6 bao nhiéu cuon sdch?
Cau 3: When harvested from the land, 90% of a turnip consisted of water. After
being exposed in the sun for an hour, 10% of the water had evaporates. Now,
what the percentage of the turnip consisted of water? bap s b
Khi thu hoach, 90% cua mot bong hoa tulip la nwoc. Sau khi dmrc pho'f kho
trong 1 gio, 10% niroc béc hoi. Vay lhic nav bao nhiéu phan tram cta bong hoa
tulip do la nuoc?
Cau 4: A factory has 800 workers. 40% of them are females. The management
decides to employ more female workers to cope with the increasing demands of
the workload such that the total number of females will increase to 60% of the
total workforce. How many new female workers must the factory employ? DSt
Mot nha may co 1t ca 800 cong nhan trong do c6 40% la nir. Nguoi quan {};C(Amg nhan ni
quyé'f dinh ruyé'n thém mét 56 cong nhan nir dé ddp ng khéi lrong cong viéc
ngay cang tang. Biét rang sau khi tuyén thém thi so cong nhan nir chiém 60% so

lwong cong nhan. Hoi nha may phai tuyén thém tdat ca bao nhiéu cong nhan nir?
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Céu 5: The value of W is 25% of X. The value of X is 45% of Y. The value of
Z 1s 60% of Y. What fraction, in simplest term, is represented by %
Gid tri ciia W bang 25% gid tri cia X. Gid trj ctia X bang 45% gid tri cua Y.
Gid tri cia Z bang 60% gid tri ciia Y. Viét phén sé 16i gian thé hién ti s6 %

A-2 B-— C-3 D-= E-—
Cau 6: 1000kg of a chemical is stored in a container. The chemical is made up
of 99% water and 1% oil. Some water is evaporated from the chemical until the
water content is reduced to 96%. How much does the chemical weigh now? Papsor ... kg
Cho mét héa chdt duge tao thanh tie 99% nude va 1% dau. Nguwéi ta dir 1000kg
héa chat nay vao trong mét container va trong qua trinh @6, nwée da bi bay hoi
cho dén khi heong nuée giam xuong téi 96%. Hoi liic dé héa chdt ndng bao
nhiéu?
Cau 7: A bag of candy is shared between Amy and Ben in the ratio 5 : 3. After
Amy gives a half of her to Ben, then Ben has 18 pieces of candy more than
Amy. How many pieces of candy are there altogether? Dap B0 saseioressismsnneess VXY RGO
Mot tii keo duge chia cho Amy va Ben vai tt s6 5:3. Sau khi Amy cho Ben mot
mia s6 keo cua minh thi Ben hon Amy 18 vién keo, Hoi tat cd cé bao nhiéu vién
keo?
Cau 8: A palindromic number is a whole number that reads the same forward
and backward. For example, 1221 is a palindromic number. How many 5-digit
palindromic numbers are there?
S6 palindrome la s6 tw nhién ma dpc xudi ciing giong nhir doc nguwoe. Vi du so
1221 la mét 6 palindrome. C6 bao nhiéu sé palindrome ¢é 5 chir s6?
A-29 B - 100 C-900 D-1000 E - DPap so khac
Cau 9: The bar chart below shows the number of cars sold in Town A in the
first half of 2019. All the horizontal lines are equally spaced. The month with
the highest number of cars sold and the month with the lowest number of cars
sold differ by 60 cars. How many cars were sold in the first half of the year? DS: oovvereneenn. X€
Biéu dé hinh c6t bén dudi thé hién sé xe 6t6 ban dwoc & thanh phr‘f A trong 6
thang dau nam 2019. Tat ca cdc dwong thang nam ngang thi cach déu nhau.
Thang co 50 xe 616 ban dwoc nhiéu nhat hon thang co 50 xe ban dwgc it nhat la
60 xe 6t6. Hoi ¢6 bao nhiéu xe 616 duge ban trong nira nim dau?
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Céu 10: Stationery Shop A has 50 pens while Stationery Shop B has 26 pens.
After both shops sold an equal number of pens, the ratio of pens that Shop A
has to Shop B is 3 : 1. Find the number of pens sold by each shop.

Cira hang vin phong pham A c6 50 cdy biit, trong khi cira hing van phong
phdm B ¢6 26 cdy but. Sau khi c hai cira hang cing ban dwge mét s6 hrong bt
nhw nhau thi ti s6 bit cia ciea hang A va cica hang B la 3 - 1. Tim 56 bit ma moi
cira hang dd ban. Dap s6: Shop A ............. but Shop B but
Céu 11: Stationery Shop A has 50 pens while Stationery Shop B has 26 pens.
After both shops sold an equal number of pens, the ratio of pens that Shop A

has to Shop B is 3 : 1. Find the number of pens sold by each shop.

Cira hang van phong pham A c¢6 50 cdy bit, trong khi cira hang van phong
phdm B ¢6 26 cdy biit. Sau khi cd hai ctra hang ciing ban dwge mgt sé lugng biit
nhw nhau thi ti s6 bit cia ctea hang A va cira hang B la 3 - 1. Tim s6 biit ma mai
ctra hdng da ban.  Dép s6: Shop A ............. bat; Shop B................. but
Céu 12: A family consists of father, mother and some children. The average
age of the family is 20 years. Without the 40-year-old father, the average age of
the family decreases to only 16 years. How many children are there in the
family. Dadp so: ............ diia con

Mét gia dinh bao gom b, me va nhitng dira con. Tudi trung binh cia cdc thanh
vién trong gia dinh la 20. Néu khéng tinh 6ng bé 40 tuéi thi tuéi trung binh cdc
thanh vién con lai chi con 16. Hoi gia dinh dé co bao nhiéu dira con?

Tuybn tap 18 cht a8 luyén thi Toén Quéc Té - Toan Song Nt | Céc béi toan Ti s6. ||

toLIVEWORKSHEETS



Hé théng phat trién Toan IQ Viét Nam
Co Trang — 0948.228.325 To AN lQ.com

Ciéu 13: A shop sells sweets where every 3 sweet wrappers can be exchanged
for one more sweet. Ali bought 30 sweets. What is the biggest of sweets that he
can get from the shop?
Mgt ciea hang ban keo voi 3 vo keo sé doi dwoc 1 vién keo. Ali ¢6 di tién dé
mua 30 vién keo. S6 keo lém nhat ma Ali €6 thé 6 duoc tir ciea hang do la bao
nhiéu?

A—44 B 41 C-40 D-43 E-42
Cau 14: Teacher Thomas did a survey of Primary 6 students to find out how the
students go to school. The results are shown in the pie chart:
Thay Thomas khao sat cac hoc sinh l6p 6 dé biét hoc sinh dén truong bang cdch
nao. Két qua dugc cho bang biéu do hinh tron:

Ways to School

——
-

— —

What is the value of angle a for the Train sector in the pie chart?

Hoi goc a cua muc di b&ilg Tau dién (Train) la bao nhiéu do

A - 99" B- 66 C - 38’ D - 90" E — Pap s6
khac

Cau 15: Alice bought some strawberries and gave half of them to Bryan. Bryan
bought some peaches and gave half of them to Alice.

. After Alice had eaten 3 peaches, the ratio of the number of peaches to the
number of strawberries she had was | : 4.

. After Bryan had eaten 8 strawberries, the ratio of the number of peaches
to the number of strawberries he had was 1 : 3.

How many pcachcs did Bryan huy'? DPdp s0: .....ccoccucenevcnee. trdi dao
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Alice mua mét sé trdi dau va cho Bryan mét nira. Bryvan ciing mua mét so trdi
dao va cho Alice mot mira.
. Sau khi Alice an 3 tréi dao thi ti 5o dao va ddu ciia Alice la 1:4.
. Sau khi Bryan dn 8 trdi dau thi ti sé dao va ddu ciia Bryan la 1:3.
Vay Bryan da mua bao nhiéu trai dao?
Céu 16: Ba di mua du thire an cho bdn con méo an trong vong 12 ngay. Trén
dudmg trs vé nha, ba da mang vé thém hai con méo hoang. Hoi chd thire an ba
vira mua du cho nhimg con méo an trong bao nhiéu ngay? Biét rang moi con
méo hang ngay déu an mét luong thirc &n nhu nhau, DAp sO: i nglY
Céu 17: The three figures in the diagram below have equal perimeters.
Whatisa : b: c?

Ba hinh dwdi diy chu vi bang nhau. Tihti lé:a : b : ¢?

2a & ¢
2b 2b
a a £ 2
2a c
]
(A) 1:1:1 (B) 2:4:5 (C) 4:6:5
(D) 16:20: 25 (E) 20:25:24

Ciu 18: Every student consumes water at a constant rate. If a jug
containing 420 litres of water is just sufficient to supply 20 students for 7
days, for how many days can the same jug supply 28 students?

MGéi hoc sinh tiéu thy meée véi toe do khong doi. Néu mgt binh chira 420 lit
muecre thi chi di dé cung cap cho 20 sinh vién trong 7 ngay, Hoi cé thé cung

cap trong bao nhiéu ngay néu co 28 sinh vién?

(A) 3(B) 4 (C) 5 (D) 6 (E)7
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